
Footrest Support Assembly
70NHD (Sector Style)



Footrest Support Assembly
70NHD (Sector Style)

Item
Number Part Number DescriptionNote

Quantity Per
Package Assembly

8881053149 Footrest Support Assembly, 70 Degree
Non-Tapered Heavy Duty, Sector, Color - Right

1 11 A,B
8881053148 Footrest Support Assembly, 70 Degree

Non-Tapered Heavy Duty, Sector, Color - Left
1 11 A,B

1001762 Screw, Socket Button Head (1/4-20 x 1-3/4") 1 12
1029501 Plug Button, Black (1") 1 13
1017148 Pivot, Footrest 1 14
1025736 Locknut (1/4-20) 1 15
1025451 Screw, Slotted Hex Washer Head (#10-32 x 5/8") 1 26
1017423 Screw, Slotted Hex Washer Head w/ Patch (#10-32

x 1/2")
1 17

1025454 Housing, Latch - Right 1 18
1025455 Housing, Latch - Left 1 18
1026124 Collar, Anti-Rattle 1 19

60108343 Kit, Pivot/Slide Tube Mounting Hardware (Pair) 1 110 C
Screw, Hex Head w/ Patch (1/4-20 x 3/4") 1 211
Spacer, Coved (1/4 x 11/16 x 1/2") 1 212
Plug, Slide Tube Threaded Insert 1 213

1026987 Guard, Impact (8" L) 1 1D
A - Specify 24P Wet Black frame color when ordering.  
B - Includes items 2-9  
C - Includes items 11-13  
D - Not Shown  

NOTE:

 


